EARAROBEEIERT — 2 N— IBISH —F

20178128280 (k) sEIHLI9H

SR N

5

CES)

[($57E] Fikb

‘ [R1%] & ‘ [REBE] — | Z (%) 16000 B

[~E%] 1 #%:7,000,000 @ ~ 23 :2,800,000MH ~ 33&:

1,800,000 § . 4 & :1,100,000 H 5 & : 700,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R ; 4 2 | HRFEIE® 1:36.6 10-9-8 | 35.2| 78.1 2 454 | FEEX (ERH)
11714/ Ly 1V —% 54.0 ot} () ) REA—ZL—S2s
RN—YTF4 BXEANVYRT (Y =¥ T — L
A : # o2 | C. bx—Jb 1:36.8 1-1-1 36.3| 75.1 | 1 508 | RHEME (Ei#)
20111 Xa-—JL—4— 55.0 (1 1/4) (=) | ARz LT
g/ w7 BINTEYyRAT J—HrTr—LA
[T O i o2 | AlElE 1:36.8 53-3 |36.0| 76.0 | 5 444 T (FEH)
EH g|Ly—FF-n 54.0 (NF) —) | @ e1r—s2y
XL THANAN B:LTZRy R ERT7—L
S =L t o2 | HEHEEER 1:37.0 3-3-2 [36.2| 74.0 | 4 500 | KEFE— (EH)
41713 LAarivyIv 54.0 (1 1/4) (=) (/) BERS
R:xov/x€x BT AN—} BRI
NEVE 4 2 | AEEE 1:37.1 9-5-6 36.0| 73.0 | 3 512 | REAFMA ()
] g|IvF—/N=F 55.0 (3/4) (—) |BEAIE
LG4 NT—=bEY B ATOLN= b L1 T14577—14
LTV B 2 | SHERK 1:37.4 12-9-8  [36.1| 70.1 | 7 392 |/hBikZ (FiH)
6510 ¥NV—>IT>TL A 54.0 (1 3/4) (—) |BBRSHILY
R:FNTz—TJI 8BTSy I Tl LA J—HrTr—LA
N . FsEX :37. -9- . . hiEE = (EH)
7 6| XV LEF—T it 2 o 1(/?;;1 5-9-11 | 36.1| 70.1 | 6 (434) e
xR TAANAIN BX=Tz Mo aA J =Y Tr—L
K = 4 2 | HHEA 1:87. 14-12-12 [ 35.7 | 70.1 | 12 432 | REM® (EH)
sz Y337 bV — 54.0 (7€) (—) | . B) HEL—2£F-2
R:/G1UXN B:T7I2xX33F HE77— L
. . 4 2 | BBIERE 1:37.4 5-5-3 36.3| 70.1 | 10 454 | BFUE— (EH)
9(8|16 T x T3>~ 54.0 (74%) (o) | %) mERT—T
AR w4 =T B:oFN BHRESHH 71X
S, =5 - 7 o2 | dtRR— 1:37.7 4-5-6  |36.6| 66.6 | 9 462 | £HESE (EH)
10815 V=T 1 —K> T 54.0 @ oy | &) HAEL-2K-2
RN=YI54 BrnOyh (B) #HAEIA-FL—-va>AET7r
S g B2 | AKEDE 1:38.3 5-5-8 | 37.2| 60.9 | 14 | 404 |EHEC (EH)
14| 779>Fv Y 53.0 31/2) (o) |FrEZLTST
RN=—5—>97 B:717—>v b EXerie ]
K > S — 4 2 | MILFIE 1:38.6 14-14-13 [ 36.4 | 58.5 | 11 432 | BAIE (EH)
12|5|9 | ¥1+*V 7 54.0 (1 3/4) ) | 5 x—n
AT -0 B:O4FIA XU b LA Eae]
A L HS s w 2 | RLiRk#A 1:38.9 2-2-3 [38.3|56.4 | 8 458 | KEFE— (M)
13[1| 2| ¥NVT7>T52Y 540 (1 3/4) (-) |EEET
R:F4—TTVIT BINUTLISUH XF iEha
P2 S . 4 2 | DNEREE— 1:39.1 12-14-15 [36.9 | 54.1 | 15 | 430 |/M&WLE GEif)
140l 5 | E* N7y 2—L 54.0 (1 1/4) o) | @ vxIaL-sry
AL TIN—RY BiROXYT LY K77 —14
—: e s 2 | BSEIEM 1:39.5 10-13-13 [37.7 | 50.3 | 13 | 432 |FREEE= (%)
15PW 7| T —AN=F X 54.0 21/2) (—) |BEEZ
L7 RT—IEY BNATLAY5R 75> Fiis
s o 2 | EHEME — - — — — — | REAT (ER)
Y11 ZFTEITVZ—R # 55.0 (B3H) (=) | BsE
R:IAY>T7T9va B:IUF—INR TS
@ 71 L
) 48.3-36.1
NA>ZA L | 12.6-11.3-12.1-12.3-12.2-12.2-11.8-12..1
® I —F—@EBIERL
1T=7r=
2= = (¥1,2)13,15(3,4,6,16)8(7,14) (5,10) (9,12) 11
Gol=5r= (x1,2) (3,13) (4,15,16,8) (6,10,14)-12,7-(5,9) 11
40—F— (¥1,13) (3,2,16) (15,8) (4,10,14)6-12-(7,9)-5 11
[ N3
B O 14 460M 714K 1-14 270M e E 1-7 300 JEHE 1-3-14 1,510
8 B 14 140 3-14 640M B = 1-14 560M B 14-1-3 8,330
1 120/ 1-3 380 B H 141 1,490
3 210M

ABICOVWTRDTEEERROODE. TR LIV,




